














(Alle Lösungen sind ohne Gewähr)
FM 1 Lösungen

WS 97/98

1. a) F = -8,86
    b) m = 14,5 kg
2. a) Volumenstrom = 0,19468 m3/s =>  700 m3/h
    b) Einzelwiderstand = 16,47
3. a) Volumenstrom (a)= 1,667 m3/s
    Volumenstrom (b)= 0,834 m³/s
4.

SS 98

1. a) c1 = 2,3345 m/s
    b) h = 12,14 m
    c) Fx = 35,04 N
2. a) h = 9,1726 m
3. a) H = 3,0253 m
    b) Widerstandsbeiwert ζ= 4,4
4. a) Grenzschichtdicke δ= 0,96896 m
    b) Fr = 774.200 N
    c) Grenzschichtdicke δ= 1,6174 m
    Fr = 1.300 N

d) P = 54.086 W

WS 98/99

1. a) F = 0,5897 N
    F1 = 338,9 N
    Pmax = 10.619,88 Pa
2. a) PSommer = 63,5 KW
    PWinter = 75,7 KW

b) Fr (Sommer) = 6,155 N
Fr (Winter) = 7,338 N

3. a) ? 1 = 347,18 s => ?1 = 0,0175
    ? 2 = 357,1 s => ?2 = 0,019  (korrigierter Wert)
4. a) ?pges = 608 Pa      => Konfusor
    ?pges = 445 Pa      => Diffusor
    b) ?pges = 1368 Pa   => Konfusor
    ?pges = 1001 Pa    => Diffusor
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SS 99

1.----
2.----
3. a) ?  = 11,21 1/s
    n = 107 1/min
    b) T = 47,4s
4. a) Lösung nicht bekannt
5. a) cl = 58,016 m/s
6. a) ?pver = 132,96 Pa
    b)  =>Diagramm<=
    c) Fr = 8,5 N

WS 99/00
1. a) Glockenhöhe= 1,911 m
    b) Mantelstärke= 68 mm
    c) Innenluftdruck= 345.250 Pa
2. a) ? 1 = 347,18 s => ?1 = 0,0175
    ? 2 = 357,1 s => ?2 = 0,019  (korrigierter Wert)
3. a) pl = 65.929,48 Pa  /  pu = 34.070,52 Pa
    Sζ = 4,7
4. a) Re = 13,73 *106   /   Ma = 0,158
    b) c = 541,97 m/s  /  Ma = 1,58
    c) ζx= 0,3186

SS 2000
1. a) M=7.700Nm
2. a) 0,1725 m³/s  => 624 m³/h
3. a) p=68.486 Pa ;
    b) Volumenstrom 2 = 0,39 m³/s
         Volumenstrom 3 = 0,61 m³/s
4. a) 33.556 KW


